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F A I 0 < 9 A H 9 < B 8 B E 8 ? 8 ; H 9 B 4 5 6 H B 4 9 4 B C : 1 ? B E 8 < A B 4 1 5 �

�
�

U 8 B H ? 5 B E 8 < A B 4 1 5 L 4 B E B E 8 E 4 6 E 8 ; B H B 4 9 4 B C �

➤

� 8 L 4 9 9 9 < B 8 ? A 1 5 ; 4 = 8 ? B E 8 S 1 ; ; 4 3 4 9 4 B C 1 : 8 R 8 A H B 4 5 6 ; 8 X 8 ? < 9 < A B 4 1 5 ; 4 5

; 8 � H 8 5 A 8 L E 4 A E 2 < M 8 ; B E 8 S ? 1 3 9 8 2 2 H A E 2 1 ? 8 4 5 B 8 ? 8 ; B 4 5 6 �

�
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➤

� 5 8 1 : B E 8 2 1 ; B 4 2 S 1 ? B < 5 B S < ? B ; 1 : = 8 A 4 ; 4 1 5 2 < M 4 5 6 4 ; M 5 1 L 4 5 6

L E < B � H 8 ; B 4 1 5 ; B 1 < ; M B 1 1 3 B < 4 5 < 9 9 ? 8 9 8 X < 5 B 4 5 : 1 ? 2 < B 4 1 5 �

� � � ¡ � , / �
� = 1 A B 1 ? A < 5 5 1 B 8 R S 8 A B B 1 3 8 S ? 1 X 4 = 8 = L 4 B E B E 8 ? 8 ; H 9 B ;

1 : < 9 9 S 1 ; ; 4 3 9 8 = 4 < 6 5 1 ; B 4 A B 8 ; B ; L E 8 5 2 8 8 B 4 5 6 < S < B 4 8 5 B �

➤

D E 8 � � , * / � � - . � � ¹ ¡ � + - � . 4 ; B E 8 = 4 � 8 ? 8 5 A 8 3 8 B L 8 8 5 B E 8 8 R S 8 A B 8 =

H B 4 9 4 B 4 8 ; 1 : B E 8 3 8 ; B < A B 4 1 5 ; 3 8 : 1 ? 8 < 5 = < : B 8 ? 1 3 B < 4 5 4 5 6 4 5 : 1 ? 2 < B 4 1 5 �

➤

D E 8 < A � H 4 ; 4 B 4 1 5 1 : 4 5 : 1 ? 2 < B 4 1 5 4 ; < A E 4 8 X 8 = 3 C � / . � - . � � � + - � . � �

➤

� . � � ¹ ¡ � + - � . � � , * / + ° / � ¹ � 4 ; < : 1 ? 2 1 : ; 8 � H 8 5 B 4 < 9 = 8 A 4 ; 4 1 5 2 < M 4 5 6 �

�
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� 5 1 4 9 A 1 2 S < 5 C 4 ; L 4 9 9 4 5 6 B 1 3 H C 1 5 8 1 : n

4 5 = 4 ; B 4 5 6 H 4 ; E < 3 9 8

3 9 1 A M ; 1 : 1 A 8 < 5 = ? 4 9 9 4 5 6 ? 4 6 E B ; �

D E 8 ; 8 B B 4 5 6 4 ; < ; : 1 9 9 1 L ; Y

p
�

D E 8 ? 8 < ? 8 n

3 9 1 A M ; : 1 ? ; < 9 8 �

�
�
Q R < A B 9 C 1 5 8 3 9 1 A M A 1 5 B < 4 5 ; 1 4 9 L 1 ? B E Ce �

�
�

D E 8 S ? 4 A 8 1 : < ; 4 5 6 9 8 3 9 1 A M 4 ; C
ne

�

� ; 8 4 ; 2 1 9 1 6 4 ; B 1 � 8 ? ; B E 8 A 1 2 S < 5 C B E 8 ? 8 ; H 9 B ; 1 : < ; H ? X 8 C 1 : 3 9 1 A M 3 �

➤

� 1 L 2 H A E 4 ; B E 8 A 1 2 S < 5 C L 4 9 9 4 5 6 B 1 S < C : 1 ? M 5 1 L 4 5 6 B E 8 ? 8 ; H 9 B ; �

➤

D E 8 8 R S 8 A B 8 = X < 9 H 8 1 : B E 4 ; S 4 8 A 8 1 : 4 5 : 1 ? 2 < B 4 1 5 4 ;

1
n
(C−

C
n

)+
n−1

n
(

C
n−1

−
C
n

) =
C
n

F

e

I
�

➤

D E 8 4 5 : 1 ? 2 < B 4 1 5 4 ; 4 ; L 1 ? B E < ; 2 H A E < ; B E 8 3 9 1 A M 4 B ; 8 9 : �

�
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➤

O B 4 ; 8 R S 8 A B 8 = B E < B B E 8 8 R < A B X < 9 H 8 1 : ; 1 2 8 ? < 5 = 1 2 X < ? 4 < 3 9 8 E j

4 ;

1 3 B < 4 5 8 = Y E 8 5 A 8 B E 8 B 8 ? 2 � � , * / � � � / ¹ � / � + - . � � ¹ ¡ � + - � . F N W O I �

➤

D E 8 H B 4 9 4 B C EU(α|E) 1
: B E 8 � * ¹ ¹ / . + 	 / � + � � + - � . α

4 ; = 8 ¸ 5 8 = 3 C

max
A

∑
i

U(Resulti(A))P(Resulti(A) | E,Do(A)).

➤

� 4 X 8 5 < S 4 8 A 8 1 : 8 X 4 = 8 5 A 8 E j

B E 4 ; 3 8 A 1 2 8 ; EU(αE j | E,E j) =

max
A

∑
i

U(Resulti(A))P(Resulti(A) | E,Do(A),E j) �

➤

7 H B B E 8 X < 9 H 8 1 : E j

4 ; A H ? ? 8 5 B 9 C ¦ c � c h ª c � < 5
= L 8 E < X 8 B 1 < X 8 ? < 6 8

1 X 8 ? < 9 9 S 1 ; ; 4 3 9 8 X < 9 H 8 ; ejk

1 : E j �

D E H ; VPIE(E j) =

(∑
k

P(E j = ejk | E)EU(αejk | E,E j = ejk))−EU(α | E) �

�
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0 1 5 ; 4 = 8 ? = 4 � 8 ? 8 5 B ? 1 H B 8 ; B E ? 1 H 6 E < 2 1 H 5 B < 4 5 ? < 5 6 8 �

F < I � ; B ? < 4 6 E B E 4 6 E L < C B E ? 1 H 6 E < 9 1 L S < ; ; F < A B 4 1 5 A1

I 4 ; A 9 8 < ? 9 C

S ? 8 : 8 ? < 3 9 8 B 1 < L 4 5 = 4 5 6 = 4 ? B ? 1 < = 1 X 8 ? B E 8 B 1 S F < A B 4 1 5 A2

I

F 3 I D E 8 A E 1 4 A 8 3 8 B L 8 8 5 B L 1 = 4 � 8 ? 8 5 B L 4 5 = 4 5 6 = 4 ? B ? 1 < = ; 1 : ; 9 4 6 E B 9 C

= 4 � 8 ? 8 5 B 9 8 5 6 B E ; º 8 < A E 1 : L E 4 A E 2 < C 3 8 3 9 1 A M 8 = 1 ? 5 1 B �

F A I D E 8 = 4 � 8 ? 8 5 A 8 ; < ? 8 9 4 M 8 9 C B 1 3 8 ; 2 < 9 9 4 5 ; H 2 2 8 ? B 4 2 8 �

P ( U | E )jP ( U | E )jP ( U | E )j

(a) (b) (c)

U U U
U  1U  2 U  2U  2 U  1U  1

☞

� = = 4 B 4 1 5 < 9 4 5 : 1 ? 2 < B 4 1 5 3 8 A 1 2 8 ; X < 9 H < 3 9 8 4 5 B E 8 A < ; 8 F 3 I �

�
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☞

 b c £ h [ � \̀ ] h c k̀ � «̀ a ¦ d \ h \ k d d ¤ \ d c \ \ k̀ \ ] \ ] � a ] � d a § \ h

_̀ ¦ � d ` _ k̀ c e d h £ j à c f ` c
i \ h \ k d d ¤ \ d c \ \ k \̀ \ k d c d ª j à c

ª ] a a © d � ] e c ] _̂̀ c \ a § © d \ \ d [ \ k̀ c \ k d h a i j à c � �

# � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

D E 8 X < 9 H 8 1 : S 8 ? : 8 A B 4 5 : 1 ? 2 < B 4 1 5 ; E < ? 8 ; B E 8 : 1 9 9 1 L 4 5 6 S ? 1 S 8 ? B 4 8 ; Y

p
�

� h c c d è \ ] « d c d � � Y VPIE(E j) ≥ 0 �

�
�

� h c ` i i ] \ ] « ] \ § FVPI

= 8 S 8 5 = ; 1 5 B E 8 8 X 4 = 8 5 A 8 E 1
3 B < 4 5 8 = ; 1 : < ? I Y

VPIE(E j ,Ek) 6= VPIE(E j)+VPIE(Ek) �

�
�

� [ i d [ � ] c
i d j d c i d c _ d Y

VPIE(E j ,Ek) = VPIE(E j)+VPIE,E j (Ek)

= VPIE(Ek)+VPIE,Ek(E j) �

�
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! � � � � � � � � � � � � �

➤

J 1 ? 5 1 L �
4 B 4 ; < ; ; H 2 8 = B E < B L 4 B E 8 < A E 1 3 ; 8 ? X < 3 9 8 8 X 4 = 8 5 A 8 X < ? 4 < 3 9 8

E j �
B E 8 ? 8 4 ; < 5 < ; ; 1 A 4 < B 8 = A 1 ; B Cost(E j)

1 : 1 3 B < 4 5 4 5 6 E j

X 4 < B 8 ; B ; �

➤

� 5 4 5 : 1 ? 2 < B 4 1 5 6 < B E 8 ? 4 5 6 < 6 8 5 B ; E 1 H 9 = ? 8 � H 8 ; B B E 8 2 1 ; B X < 9 H < 3 9 8

S 4 8 A 8 1 : 4 5 : 1 ? 2 < B 4 1 5 E j

A 1 2 S < ? 8 = B 1 Cost(E j)

Y

function INFORMATION-GATHERING-AGENT( percept) returns an action
static: D, a decision network

integrate perceptinto D
j � the value that maximizes VPI(Ej) � Cost(Ej)
if VPI(Ej ) > Cost(Ej)

then return REQUEST(Ej )
else return the best action from D

➤

D E 8 S ? 1 A 8 = H ? 8 4 2 S 9 8 2 8 5 B ; ¡ � � � - � 4 5 : 1 ? 2 < B 4 1 5 6 < B E 8 ? 4 5 6 � ;
4 5 A 8

N W O 4 ; ; E 1 ? B P ; 4 6
E B 8 = 9 C < S S 9 4 8 = B 1 ; 4 5 6 9 8 S 4 8 A 8 ; 1 : 8 X 4 = 8 5 A 8 �

�
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�
´ µ % ( � % �́ ' % � # % � ´ " ¶ " ´ % � "

D E 8 M 5 1 L 9 8 = 6 8 8 5 6 4 5 8 8 ? 4 5 6 S ? 1 A 8 ; ; : 1 ? < = 8 A 4 ; 4 1 5 P B
E 8 1 ? 8 B 4 A ; C ; B 8 2 Y

p
�

> 8 B 8 ? 2 4 5 8 B E 8 ; A 1 S 8 1 : B E 8 S ? 1 3 9 8 2 F = 8 A 4 = 8 5 1 = 8 ; I �

�
�
� < C 1 H B B E 8 B 1 S 1 9 1 6 C 1 : B E 8 5 8 B L 1 ? M F < 5 < 9 C � 8 = 8 S 8 5 = 8 5 A 4 8 ; I �

�
�

� ; ; 4 6 5 S ? 1 3 < 3 4 9 4 B 4 8 ; B 1 A E < 5 A 8 5 1 = 8 ; �

�
�

� ; ; 4 6 5 H B 4 9 4 B 4 8 ; B 1 H B 4 9 4 B C 5 1 = 8 ; �

	
�
Q 5 B 8 ? < X < 4 9 < 3 9 8 8 X 4 = 8 5 A 8 B 1 B E 8 5 8 B L 1 ? M �

q
�
Q X < 9 H < B 8 S 1 ; B 8 ? 4 1 ? S ? 1 3 < 3 4 9 4 B 4 8 ; < 5 = H B 4 9 4 B 4 8 ; : 1 ? B E 8 5 1 = 8 ; �

�
�

� < B E 8 ? 5 8 L 8 X 4 = 8 5 A 8 H ; 4 5 6 X < 9 H 8 1 : 4 5 : 1 ? 2 < B 4 1 5 < ; < A ? 4 B 8 ? 4 1 5 �

	
�

W 8 ? : 1 ? 2 ; 8 5 ; 4 B 4 X 4 B C < 5 < 9 C ; 4 ; : 1 ? B E 8 < ; ; 4 6 5 8 = S ? 1 3 < 3 4 9 4 B 4 8 ; � H B 4 9 4 B 4 8 ; �

�
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" � � � � � ¶

➤

� / � - � - � . + ° / � ¹ � � � ¹ � 	 � 	 - , - + � + ° / � ¹ � � * + - , - + � + ° / � ¹ � �
➤

� ¹ � + - � . � , � � / . + A 1 5 ; 4 = 8 ? ; < 9 9 S 1 ; ; 4 3 9 8 < A B 4 1 5 ; < 5 = A E 1 1 ; 8 ; B E 8

1 5 8 B E < B 9 8 < = ; B 1 B E 8 3 8 ; B 8 R S 8 A B 8 = 1 H B A 1 2 8 �

➤

� / � - � - � . . / + � � ¹ 
 � º < 6 8 5 8 ? < 9 4 � < B 4 1 5 1 : 7 < C 8 ; 4 < 5 5 8 B L 1 ? M ; º

S ? 1 X 4 = 8 < ; 4 2 S 9 8 : 1 ? 2 < 9 4 ; 2 : 1 ? 8 R S ? 8 ; ; 4 5 6 < 5 = ; 1 9 X 4 5 6 = 8 A 4 ; 4 1 5

S ? 1 3 9 8 2 ; �

➤

D E 8 � � , * / � � - . � � ¹ ¡ � + - � . 4 ; = 8 ¸ 5 8 = < ; B E 8 8 R S 8 A B 8 = 4 2 S ? 1 X 8 2 8 5 B

4 5 H B 4 9 4 B C A 1 2 S < ? 8 = B 1 2 < M 4 5 6 < = 8 A 4 ; 4 1 5 L 4 B E 1 H B B E 8 4 5 : 1 ? 2 < B 4 1 5 �

➤

� � � / ¹ + � � � + / ¡ � B E < B 4 5 A 1 ? S 1 ? < B 8 H B 4 9 4 B C 4 5 : 1 ? 2 < B 4 1 5 E < X 8

< = = 4 B 4 1 5 < 9 A < S < 3 4 9 4 B 4 8 ; A 1 2 S < ? 8 = B 1 S H ? 8 4 5 : 8 ? 8 5 A 8 ; C ; B 8 2 ; �

�
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U 8 A < 9 9 B E 8 = 1 2 < 4 5 1 : ; 1 A A 8 ? S 9 < C 4 5 6 < 6 8 5 B ; < 5 = : 1 ? 2 < 9 4 � 8 < 3 < 9 9

B ? < A M 4 5 6 ; C ; B 8 2 H ; 4 5 6 < 7 < C 8 ; 4 < 5 5 8 B L 1 ? M L 4 B E B E 8 : 1 9 9 1 L 4 5 6 X < ? 4 < 3 9 8 ; Y

N < ? 4 < 3 9 8 N < 9 H 8 ; Q R S 9 < 5 < B 4 1 5

Tired True,False

O ; B E 8 < 6 8 5 B : 8 8 9 4 5 6 B 4 ? 8 = �

Angle Left,Center,Right

� 5 6 9 8 L 4 B E ? 8 ; S 8 A B B 1 B E 8 3 < 9 9

Distance Far,Close,Touch

> 4 ; B < 5 A 8 B 1 B E 8 3 < 9 9

➤

J 1 ? 8 < A E X < ? 4 < 3 9 8 X 1
: B E 8 ; 8 �
4 5 B ? 1 = H A 8 < 5 < = = 4 B 4 1 5 < 9 X < ? 4 < 3 9 8 Xnext

? 8 : 8 ? ? 4 5 6 B 1 B E 8 1 H B A 1 2 8 1 : < A B 4 1 5 ; < X < 4 9 < 3 9 8 B 1 B E 8 < 6 8 5 B Y

TurnLeft� TurnRight� Run < 5
=

Nop �

➤

� = = < H B 4 9 4 B C 5 1 = 8 B E < B = 8 S 8 5 = ; 1 5 Tirednext � Anglenext �
< 5 =

Distancenext �

> 8 ¸ 5 8 < H B 4 9 4 B C : H 5 A B 4 1 5 3 < ; 8 = 1 5 B E 8 ; 8 < B B ? 4 3 H B 8 ; �

�
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